2
= &g
- A Q ¢ o8 -
[ 0 w ] < s 3
pin s m < 2 -
L. E - O sels|glxlE°
R S S o | 3
w0
O v P~ o Sc
N
(- m g5 o
T - S5 S
SI L
P ) £ 212, 8
5 NG=Eol BN =
2 | 2| B5lg +
HE Sl | 24
\
‘ v
= -
N 3 x M
W (o'
SN =) _.m
ol 5 3 o
S o XL
‘W LIy,
o 2
= o
<C
D L=< o “
=z X )
E N <
g3 = Iz
S 2 S \—
S - 3
R 7] =JR 1T}
P g2 2 B2
63 M w
. )
SIS =
= P n M -1
= <« SN -] - w
EES 259 5| g
g3 ss| ! B w
> ALn ~ 2 A o V
Vm - = > 4 -
g 5 >3 m < ™
S - |5 > o
N = < |Sal e < 5
Qe & o
= le2|® o =
S|23 L © m
2 o %,W (=] o Wl
3 I |col & - a
2 S|oa|E o ©
g n o o
£ 3 & .
g & 2 W g g
e glz |2 &
=
[Ye)
N £0'867 —  €0'862 9z°08 :
TG €0867 —  £0'86¢ —— 5208 — 5¢ mm__ +
<
S
K
N 1L df €162 — L1162 oLLL g
Q =
A [N ]
Q
3 % o
o 3 @ 0G°/62 —  L¥'162 Gg'e9
S T )
oo o 8€°/62 Ge' .62 0009 (=)
2 _ |
oy 500910 >
= 229510 2
97’160 —  2TL6T 2T'9s N
S
9l dA €0'/62 —  86'96C ¥0'6¥ K
©
1D
[ee]
™~
2 G967 —  89'96C 00°0% -
i ®
[m)
® eevel|
© eI
"
o
=
[
[N ]
¥l dA | GE'96C — 62962 91°/2
m = mmm 82967 — €296 60°6Z
O S
—ad . . .
k ¥ 570710 ¥1'967 —  80'96T 000z ()
>
3 EYSLL0
i €0962 —  96°G6Z evGlL
g
S S
1 [}
H 88°667 —  L1°S6T —— €e'8 S
—£€8010 G866 — LGB 9L ]
o
o - o Lo
i g
NEE o 89'562 v5'S62 = 000 (© 5
= . err 67— & . ] e
D__u W 000010 ,\// =)
T
// 15667 —  ZV'S6T £0'96
=] £9160°0 GPGez —  0£°S6Z 1916 -
= \v'G6C —  12'G6C 1v°06 8
oD | == [
8 15
10662 — L6762 00708
/- 50%6¢— 66982 —\| 967 2 ||
P0C6Z —  86'vBT —Ng 026/
00662 — 2676 G0'8L
Wi
P +—
= M
99767 — 9562 1989 S
e TA ¥8v9
o vez —  8Z¥6C zz19
GEV6C —  €CHBL 0009 ()
1TV62 —  9L¥6C z1'8s
o
o
=]
66€62 —  LEE6Z ZrLs = =
. . . = &
06'€67 —  18'€6C Y6 s
9,667 —  99°€6Z 209y
19662 —  LG'€62 55Ty
05662 —  BEE6T 000t (=)
08667 —  0Z'€6Z v1°ge e |
6L€62 —  0L'€6Z evee b ]
= ~
S N
=~ Vol
©
o 69767 — 89767 ILE€T (2
. 80767 —  85¢6C AN T4 :
% \H 19¢6c —  9G9'26C H/l €822 m_‘mxmhm —
~ i
IRNES — 25262 —  \v'Z6e 000z ()
had M ommmw%o_\// 8E767 —  ¥TT6T S
P — 96060 — Y226 —— 0z L1
> D
§ z
o
N
s 5 ©
2]
VYIOLS —— €8'162 — 917162 i
2
=2 8 2
< V167 —  £h16T -2 000> 000
590000 EVL6C — £V 6T — 000 (& 7'
o>
2 5
— D _m_lnL
& s e
= ] >
o = r P o
I O M I VPNV >LL]
ST} o O = =
A M ,Y Na'e
> 2 & > S a o
o= N o =) <= =0 E .
O > = & S =z =Z = o L
N o< m o < W WX o >
< O = L Z0 O o = @)
a5 <> &
o . Z0 = = > = = < o o
== LN = = O =5 5 '
D or =0 O O X — [l =
O O N > ~ ~ wn n n O = n




	Listy
	D.5.3.1 Podélný profil větve A


